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NUMBER: 1197 SSC PART-I (9th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-| by - (oS ) S

TIME ALLOWED: 20 Minutes OBJECTIVE (&57.o 20 = &

MAXIMUM MARKS: 15 MIN-4G1-20~ 15= AF
S i b I3 Jb Ll g erne it s s\l v g JE32 -t LE D 41 C B A 22l oS

Lagdirt KL e S S S5 Jmﬂuurmyﬁu‘wﬂ&,// S v LS ,/ummuc...( &=
Note: you have four choices for each objective type question as A, B, C and D. The choice -J/ J"/;._,U!/

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbies will resuit in zero mark in that question. No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 N 2

(1) Symbol used for similarity is: el ek L (1)
(A "= (B) «— (C) "= o) "~

(2) Area of parallelogram=___ . = Akl (2)
(A) Length x length i/ x 3/ (B) Base x altitude £t x (LISouts
(C) Length x width JU;; X au (D)%(Base)(Altitude) %(wb“)(&@ﬂ)

(3) The medians of the three sides of a triangle are: Wl gesliwigglels (3)
(A) Collinear L4 (B) Congruent ‘ﬂ? (C) Concurrent ﬁﬁ (D) Parallel $J1#

(4) { Y20 1 called matrix. e LT by {‘5 0 } 4)

L0 2 J ‘ 0 V2

(A) Zero 3 (B) Unit Jiwts (C) Scalar A° (D) Singular st

(5) The conjugate of 5 + 4i . S 5+4i (5
(A) =5+ 4i [P Cugll (C) 5+ 4i (D) S —4i

(6) The logarithm of unity to any base is: <§.L”ﬂ/.’/.£ o (;%‘ g1 /?gjl/!o’r (6)
(A) 0 (B) 1 () 10 D) e )

(7) The degree of polynomial 4x*+ 2x°y is: e o 4xt 4 247y -4 (7)
(A) 1 (B) 4 (C) 2 D) 3

(8) Find m sothat x°+ 4x + m is a complete square: Kbl X+ 4x+m 4,1.:‘2‘_/‘,( m (8)
(A) 8 (B) -8 (C) 16 (D) 4

) HCFof a*~h*and a'— b’ is: P A L R R )
A a—b (B) a+b (O @ +ab+ b (D) a®—ab + b’

(10) A statement involving any -4‘.31}/ o L@J&ytk.gé/cwuﬁ < > <V 2 uiu*uy&f (10)

of the symbols <, >, <or > is called: (A) Equation «hl~

(B) Identity srend L ad 1§52 e blag (C) Inequality =il+# (D) Linear equation =hlaf.nf

(11)  Which ordered pair satisfy the equation y = 2x ? ?‘L(‘Zb{.ﬂj&iy =2x a'aLAﬁ?L/u/ (11)
(A) (2, 1) | (1, 2) € (2, 2) D) (0, 1)

(12) Distance between the points (1, 0)and (0, 1) is: .-4‘_“_.&6&@;{( 0, 1) »(1,0)8 (12)
A 2 (B) 2 (€0 (D) 1

(13) Two lines can intersect at point/points. -u;zéfd’iwiw s (13)
(A) 1 (B) 2 C) 3 (D) 4

(14) In a parallelogram opposite angle are: oy C é.)’)JL?Z:CLUUUJ.'P (14)
(A) Unequal 41z 4 (B) Equal i (C) Concurrent Jzﬂf (D) Non-concurrent i e

(15) The right bisectors of the sides of a triangle are: siffdent Jtd»fé_CML;u@uj (15)

(A) Congruent J&L?‘ (B) Equal 1« . (C) Concurrent ,E'd(”« (D) Parallel $J/5




MAXIMUM MARKS: 60
NOTE:

SSC PARTH (9th CLASS)
MATHEMATICS (SCIENCE GROUP) GROUP-I
TIME ALLOWED: 2.10 Hours

SUBJECTIVE

‘00

/t"j’,.lﬁ?

Write same question number
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and its part number on answer book, as given in the question paper.

SECTION-l il

2. Attempt any six parts. 12=2x6

(i) Define transpose of a matrix. ..;f.;d /7&)..(:1/‘&.,)(?

) Find 34-28 4= ) “2] | 07 A:[l "2], B:[ & 7}-;45(}»' 34 2B
|3 4 | -3 8 3 4 -3 8

(iii)
(iv)

(V)
(vi)
(vii)

(viii)

(ix)

3. Attempt any six parts.

Evaluate %’

Simplify (-7 + 3i) (-3 + 2i) and
write the answer in the form o + bi

Express 9.018 x 107 in ordinary notation.
Evaluate log512 fo the base 242

What is meant by rational expression in its lowest form?

Simplify (\5+;\}_§)(ﬁ_%)

e ™, 1
Factorize x'+— -3
’ X

12=2x6

-éf#‘u}ﬂ i
SEALFS a+bi S (=T +3i) (-3 + 20)

A
LU 9.018 %107

log512 to the base 22 . E e
Vc{,;f/gch;/ﬁd/g‘:’bt

(a-3)(s

x4+—]—4———3 ~§§6i
x

b - oo (ool S m/
#2210 =

=

AF

;
Lo

Efenlinge & 24 )y

(i)
(i)
(i)
(iv)

(v)
(vi)
(vii)

1Y s
= 7—3‘J &4 i)

(ix)

o fenlinige & 340w

()  FindHCF of 102xy’z, 85x’yz, 187xyz’ 102xy°z, 85xyz, 187xyz* -u/(}»‘/uu (i)
(i)  Solvetheequation /2 +4 = [r—1 J2u+4 =t -1 SAS el (i)
(i)  Define linear inequality. JA e F st i)
o s ,q/r}w:““if o s m MLl Sty =mx + e fetloS (i)
(iv)  Find value of 'm' and ¢’ ofline x =2y = -2 by expressing itintheform y =mx +¢
(v)  Verify whether point (0, 0) fies on line -uﬁ”‘i@,(‘jb{ 2r—y+1=000(0, 0) BIL/H  (v)
2x -y +1=0 ornot
(vij  Find mid point of the line segment —nlisy AB B2 LBk B(6,1) # A(-8, D6 es  (vi)
joining the A(—-8,1)and B(6,1)
(viiy  Define equilateral triangle. ,q/uy /U&fﬁwkwd;ﬁ (vii)
(viii) What is meant by S.5.5 =S.8.5.2 teolpe S LS EOLSS (Vi)
(x) Findvalueof 7° and X ) GeES Y T ()
me
75° xAY°

R




V&
4. Attempt any six parts. M ™N-G/ 21;2 =2x6 _é/jvwaiuwcdl 4Ly
" (i) If the given triangle ABC _J/?}’"JJ 2 x (}‘“L _c,JtKA A AD % ABC wvwmu,w{s) ()]
is equilateral triangle and 4D is bisector of 4 , then find the value of unknowns x° and z°. -

B D
e ttra QSO AU oL L8 LSS iTun 8om 9 6om A0om WEISEIML 2Bl )
(ii) If 70 cm, 6cm and 8 cm are the lengths of a triangle, then verify that sum of measures of two sides
of a triangle is greater than third side?
(i) Inisosceles A PQR shown in figure, GRS Y s x caldUiglod APGR JSG (i)
' find the value of x and » P

10 cm, X

Q 6emv v R

W lperosb el st 00d Led T x g 17 % 8 AU 2ol (v)
(iv)  The three sides of triangle are of measure 8, x, 17 respectively. For what value of ~ xwill it
become base of a right angled triangle?

(v)  Verify that the given triangle having e sl a5 OISl Lab s et (W)
measures of sides is right-angled triangle ornot? a =9cm, b =12cm, ¢ =15cm
(vi)  Define altitude of a triangle. _u/:,ai /’J Ll el (vi)
(vii)  Find the area of given figure. -J)?‘P’J/KJ%@; (vii)
_14 (1
(vii) Constructa AXYZinwhich  m X¥ =5.Sem, mZX¥ = 45cm, msZ =900  SALEXVZEE i)
(ix)  Define incentre of a triangle. _u”/g_g /’J (in centre) f/&uﬂb/&&ﬁ (ix)

SECTION I o2
24=8x3 i 9 E fell e O o

NOTE: Attempt any three questions. Question No.9 is compulsory.

5.(A) Solve with the help of Cramer's rule. 4x+y=9, -3x—y=-5 -uéd":,ud/uiﬁﬁ A4S ()5
o a+b b b+c ¢ \cta
x ‘e w
(B)’ Use laws of exponents to show that. [ —iy ] X { i—c J X (;;; J =1 -gffcx.&qud*iLV@i (<)
_ , (1.23) (0.6975) N R
s WL il tZ_./(L"‘/‘}J/ K)’ J’—6
6.(A) Use logarithm to find the value of (0.0075)(1278) éf:l”uafé.!’ J (’5 )
1 , s - Z
(B) If ¢ =~/5+ 2, thenfind the value of 9" — = Feedd gt - ~1—2 wog=5+2/ (L)
q
7.(A) If (x + 2) is a factor of LedS kIl Az 3% - dkx +11x - 6 $F (x+2) S (U7

3x* = 4k x + 11x — 6 | then find the value of k.
(B) Perform the indicated operations and simplify to the lowest form -J//";u" oo J/o)VLL/f [_Jlfié/-lb (<)

x’—8 x+6x+8 =8 x+6x+8
-4 - ' Ped C s LI |
8.(A) Find the solution set of the given equation. HE—~3) _ gl -Q/ﬂ"qd’(a :Pu@; (-8
6 9
(B) Construct a AABC. Draw the perpendicular T—— -u‘f“{ Forl Ul Wl sl b ABC &b (L)
of its sides. mAB = 2. 4em, mAC = 3. 2em, mZA =120°
9. Prove that the right bisectors of the sides of -@Ln)ﬂ( JL&)/LCML&J&J:( uj/cf,t* -9

a triangle are concurrent.

. L * b
Prave that narallalaarame An aaniisl haeac VR I 2 2 /¥ 4 .lu.lx,luw_‘__&_éiu__“




NUMBER: 1194 SSC PART-l (9th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-II Iss - b;;f (b;;// u"‘i/) fg/
TIME ALLOWED: 20 Minutes OBJECTIVE u")/”,v or 20 = =
MAXIMUM MARKS: 15 MTN -G 223 15= AF

Hee o\ TN 3oLl i Ui & s Ll s g 6317 L5 D I C B A ._,u;,@tpédlyf oy
/.>/.J »J! -fc.lat;f/dfufu/ﬂgﬁ_/ 4 :’Q:/U -S'rﬂ"bk‘__ !iw’fau"_,u"d/a.// / ¥ b d.f,fu;/l)ul,/c,._(
Note: you have four choices for each objective type question as A, B, C and D. The choice -;{f J’/}vuly
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) The right bisectors of the sides of a/an ____ -u"d—/&,LLW}L/JJJJH;}/LCW’LJ,AU (1)
triangle intersect each other outside the triangle.

(A) Obtuse -2 (B) Acute ab ' (C) Equilateral Z,LWUU&LP‘ (D) Right 1246

(2) Unit of ratio is: > E deifer’ (2)
(A) Meter ~ (B) Kilogram (f/;g (C) No one uffdf (D) Second 4£

(3) Symbol used for therefore is: -QJﬂJWw@.L‘;}M (3)
(A) & (B) : (C) D) -

(4) The right bisectors of the three sides of a triangle are: Y P R 2 L 1T /S A1 Y ) (4)
(A) Congruent J:L?‘ (B) Collinear k¢4 (C) Concurrent le’v(? (D) Parallel 15

o[t L O [
c d|ly n c dly n

lm — dm + bn dm — bn

M e RS, O Oa

6) ¥x7 = = @
®) ¥ ®) x © ¥ (D) ="

{7) log, 10~ log, 10~ (7)

‘ (A) 23.026 (B) 2.3026 (C)0.23026 (D) 1.23026
B=dab=_ dab=__ (8)
(W) (a~b)=(a+b) (B) (a¢+b): (a=b)" (O)(a+b)+(a=b) (D)(a+b)-(a-b)
(9) The polynomial (x — a) is a factor of the polynomial B P(a) A28 P(x) L?//?( (x-a) A (9)
P(x)ifandonlyif P(a)=

(A) @ (B) x (&R (D) 1

(10) What shouid be added to complete the square of x* + 64 ? _z_twaéfdffz_w UUUs x*+64 22 (10)
(A) 64x° (B) 16x (C) 16x* (D) 8x’

(11) x=___isasolution of the inequality — 7 < 5 < > ﬂc‘._dc.gﬁ‘,;‘fﬁ =3 2 3 ehisdx=_ (1)
® o ® o SENCE: O-5 °

(12) 1Acre~ _____hectare. Aila____ A (12
(A) 0.6 (B) 0.5 (C) 0.4 (D) 0.2

(13) Mid point of the points (2, 2) and (0, 0) is: u’d 8 (0, 0) 4 (2, 2)566  (13)
(A)(1, 0) (B) (0, 1) € (1, 1) (D) (-1, -1) .

(14) Number of end points in a ray is: ,g_&n ____)Md/w/ﬁf,bﬁ (14)
(A)0 (B) 1 (C) 2 (D) 3

(15) Diagonals of a rectangle are: Sl /";é:v}};w (15)
(A) Collinear Be (B) Non-congruent JL&’){ (C) Congruent JL?” (D) Un equal sict

NA4ICAICACDE ADALIDY AW,

SviNmes e awme e v
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MATHEMATICS (SCIENCE GROUP) GROUP-I
SUBJECTIVE _SELe
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MAXIMUM MARKS: 60

NOTE: Write same question number

MTN-42-22.

60

el P4 Z../Jb’fi é % /‘)57 JJ’/’U Iy Jas Q KQL?.
and its part number on answer book, as given in the question paper.

SECTIONA Jil.e

2. Attempt any six parts.
()

(ﬁ/!fB:[l 'I}t'henverifythat {BY= 8
20

(f)/ Simplify. 2 X '43’ d
(1( Evaluate (—i)’

V) Find the value of x if log,, 8 =

Define rectangular matrix.

2

()( Calculate log, 3 x log; 25

i simpity (@riﬁ) [I -J—]

R
15
viiy Rationalize the denominator of
v VR 4
(x) Factorize 128am’ ~ 242an’

3. Attempt any six parts.
(i) Find HC.Fof 102xy’z, 85x’yz, 187xyz*

(i) /Solve the equation —3—25 - ; e %5— % _x ; = 6 5 _gSiflen
(iM/Deﬂne linear equation. - I /U:«bl/&u_{
(iv) /Draw the points on the graph paper. (-6, 4) and (4,-5) (=6,4) (4, - 5)4,[)}154 4&.}!}71:@54.;
(V/D ine Cartesian Plane. -q’/.:y j"JdP’u":K
(v ind the distance between two points. A(=4,2), B(-4,-3) <Q/((PJ&GUWLL®»
(qi)/ Define scalene triangle. -u/Jwaawu@

(vily  What is meant by S.8.S = S.8.57
Lb(/ Find the unknown values of x°, y°, m’ n°

12=

12=

2x6 - ferrlinge S 270
LA HET 0
(B') = B S /J#8B = B ;]ﬁ (i
x“z._ic‘3.4y7 _u://“}’ (il
.
(=i g Fed W)
loge, 8= Agpppedd x W)
log, 3 x log; 25 -uj/‘/’)”a‘gd/ [0k (Vi)
(g (5
o L o i)
128am? — 242an* -y S5E ()
2x6 Eferlinze 37y

102xy°z, 85x°yz, 187xyz’ _gj/)"'fyblp

Seslple SSS = S
-J/()L’”JW‘O/ n’e moey o x Uﬁt}(/L{d’

in the given figure.
°
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i)
(ii)

(i)




?ﬂempt any six parts. MTN "12. 12=2x6 -Zf/quiﬁiilic,d/ -4/&&/

In congurent triangles LMO and LNO find x and m. -é,f)%w»& ma x JLNO s LMO ot Sds ()

m

(lf( 2cm, 3cm and 5cm are not lengths of a triangle. o -@ﬂugﬂ&&(’% 5uf3 (2 f,é.»f.e:.&, (i)
Give reason.' |
(y” Define ratio. | LEfed i
(iv)  State ::onverse of pythagoras theorem. -é ugui Q’&‘«fg (iv)
(v)  Define interior of a rectangle. -.é.yf&uﬁtéﬁp (v)
( Verify that the triangle having Bl L ¢ = 13cm s b= 12cm < a=5cm JEIFA (i)
"/measures of sides is right-angled a =5cm, b=12cm and ¢ = 13cm ‘
(ff)  Find the area. Sk (i
8cm

4cm /

(vii)  Define incentre of the tnangle -iJ/U (Au) 7}&»;'5..41"“ (viii)

&

li{ Construct friangle XYZ inwhich  mZX = 6.4cm, mYZ =2.4cm, mZLY =90° u”‘f e b XYZ & (ix)

SECTION-Il (1.0
24=8x3 g Oy Eferletnde L
NOTE: Attempt any three questions. Question No.9 is compulsory.
5.(#f Solve by using the matrix inversion method.  4x + 2y =8, 3x — y = —1 -é’:d":,qué’Lu)l? (.5

o PRVEY g \It7 .
(B Simplfy. (ﬁ_} [E’_) cs(ar.ar Y, a0 Fra®
a
6.06 Use logarithm to find the value of (123) (0.6975) (1.23) (0.6975) ~¢/"P~>€cua?;b’) (h)-6
(0.0075)(1278) (0.0075)(1278)
({ifm+n+p=10 _u:/(}"‘o{:’.J m*+n’+ p* ¥ mn+np + mp =27 /;lm+n+p=10/'7 ()
and mn + np + mp =27 | then find the value of m*+ n* + p’
7.(A) Factorize the polynomial by factor theorem. 3 — = 12x + 4 -y f."c.ugfd fi ()7
> _ 2 _ _
(B) Simplify to the lowest form. x2+ £ x' -4 ¥tx-6 % 4-u//‘iu‘yumlz ()
A/ Pt =6 B= P-x-6 ©-9
8.:{AY" Solve the equation &6:—3—2 ~x= 1—-9— L"’g}_l - 1__’9f -q/,’»m,gd%w ()-8

mAB = 2.4cm, mAC =3.2¢cm, mZA =120° ,ugﬁﬁufq/@ﬁj,suféﬂtdyicLL'a!Lufuj'lzw ABC ()
(B) Construct the triangle ABC. Draw the perpendicular bisectors of their sides and verify their concurrency.
mAB = 2.4cm, mAC =3.2cm, mLA =120°
/ -K/d‘uu’bd)fﬁb;b’u’lvifﬁwldﬁbfcw/ﬁb;b’o/b’.f/ftjfu? -9
Prove that: Any pont equidistant from the end points of a line segment is on the right bisector of it.
OR |
Ju,wu”,m,um/cw/m/;s&fu‘%’! Sy St




